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year | max min

2000 | 22.56 | —22.54
2001 | 24.18 | —24.12
2005 | 28.54 | —28.52
2006 | 28.72 | —28.69
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x =sinbcos A, y=sinbsin A, 2z =cosb
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x' =sinacos(mr — B) = —sinacos B, % =sinasin(r — B) =sinasinB, 2 =cosa
00 2,20 c0000000000O000 2’ =xcosc—zsine, 2 =zcosc+xsine OO0

sinasin B=sinbsin A(OO0ODO), cosa=cosbcosc+sinbsinccosA(DDDODO)
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6 = arcsin(sin 3 cos e 4 cos Ssinesin \)
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sind = sin esin A
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sind _ sinA

sine sin /R

gobood.

E. #i
P: Jbim
M: A

X 6
go,0o0oo0o0oooooooobo eobobo,b00,00,0bbooboo0oobooooobooboooooboobooon,

cos(g —0) = cos(g — B)cose+ sin(g - 0) sinecos(g —A)
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[1] E. M. Reingold, N. Dershowitz: Calendrical Calculations: The Millenium Edition, Cambridge University Press,
2001.



